т ̈̈вітак

Turkish Journal of Mathematics
http://journals.tubitak.gov.tr/math/
Research Article

Turk J Math
(2022) 46: 2069 - 2077
© TÜBİTAK

# On generalized Fibonacci and Lucas hybrid polynomials 

N. Rosa AIT-AMRANE ${ }^{1,2}{ }^{(1)}$, Hacène BELBACHIR ${ }^{2}{ }^{(0)}$, Elif TAN ${ }^{3, *}$ (ㄷ)<br>${ }^{1}$ Department of Mathematics, Faculty of Science, Yahia Fares University, Médéa, Algeria<br>${ }^{2}$ Faculty of Mathematics, RECITS Laboratory, USTHB, Algiers, Algeria<br>${ }^{3}$ Department of Mathematics, Faculty of Science, Ankara University, Ankara, Turkey

Received: 11.08.2021 • Accepted/Published Online: 08.04.2022 • Final Version: 04.07.2022


#### Abstract

In this paper, we introduce a new generalization of Fibonacci and Lucas hybrid polynomials. We investigate some basic properties of these polynomials such as recurrence relations, the generating functions, the Binet formulas, summation formulas, and a matrix representation. We derive generalized Cassini's identity and generalized Honsberger formula for generalized Fibonacci hybrid polynomials by using their matrix representation.


Key words: $r$-Fibonacci polynomial, $r$-Lucas polynomial, hybrid number

## 1. Introduction

The hybrid numbers have been recently introduced by Ozdemir [10] as a generalization of complex, hyperbolic and dual numbers. The set of hybrid numbers are defined as

$$
\begin{equation*}
\mathbb{K}=\left\{a+b i+c \epsilon+d h \mid i^{2}=-1, \epsilon^{2}=0, h^{2}=1, i h=-h i=\epsilon+i\right\} \tag{1.1}
\end{equation*}
$$

where $a, b, c, d \in \mathbb{R}$.
The addition, substraction and multiplication of two hybrid numbers $k_{1}=a_{1}+b_{1} i+c_{1} \epsilon+d_{1} h$ and $k_{2}=a_{2}+b_{2} i+c_{2} \epsilon+d_{2} h$ are defined respectively as

$$
k_{1} \pm k_{2}=\left(a_{1} \pm a_{2}\right)+\left(b_{1} \pm b_{2}\right) i+\left(c_{1} \pm c_{2}\right) \epsilon+\left(d_{1} \pm d_{2}\right) h
$$

and

$$
\begin{aligned}
k_{1} k_{2}= & a_{1} a_{2}-b_{1} b_{2}+d_{1} d_{2}+b_{1} c_{2}+c_{1} b_{2} \\
& +\left(a_{1} b_{2}+b_{1} a_{2}+b_{1} d_{2}-d_{1} b_{2}\right) i \\
& +\left(a_{1} c_{2}+c_{1} a_{2}+b_{1} d_{2}-d_{1} b_{2}+d_{1} c_{2}-c_{1} d_{2}\right) \epsilon \\
& +\left(a_{1} d_{2}+d_{1} a_{2}+c_{1} b_{2}-b_{1} c_{2}\right) h
\end{aligned}
$$

Similar to the quaternion multiplication, the hybrid number multiplication is noncommutative. Thus the set of hybrid numbers form a noncommutative algebra. For more details of hybrid numbers, see Ozdemir's paper [10].

Recently, Szynal-Liana [15] introduced the Fibonacci hybrid polynomials (alias hybrinomials) as

$$
\begin{equation*}
F H_{n}(x)=F_{n}(x)+F_{n+1}(x) i+F_{n+2}(x) \epsilon+F_{n+3}(x) h, \tag{1.2}
\end{equation*}
$$

[^0]where $F_{n}(x)$ is the $n$th Fibonacci polynomial (see [7]) defined by the recurrence relation
$$
F_{n}(x)=x F_{n-1}(x)+F_{n-2}(x), n \geq 2
$$
with initial values $F_{0}(x)=0, F_{1}(x)=1$. In [5], Kizilates defined the Horodam hybrinomials which generalize the Fibonacci hybrinomials. Several studies related to hybrid numbers with Fibonacci-like number coefficients can be found in $[6,8,9,12-14,16-19]$, and for a recent study related to the generalized Fibonacci numbers and polynomials we refer to [2]. It is also worth noting that, in the literature there exist another type of hybrid polynomials which are related to the families of special functions such as the Laguerre and the Hermite polynomials, see [4]. We should note that our approach will be different from that polynomials.

This work has been intended as an attempt to introduce a new class of hybrid polynomials, which are so-called " $r$-Fibonacci hybrid polynomials and $r$-Lucas hybrid polynomials of type $s$ ". They give a natural generalization of the Fibonacci and Lucas hybrinomials. We give the generating functions, the Binet formulas, matrix representations and several basic properties of these hybrid polynomials. A relation between $r$-Fibonacci hybrid polynomials and $r$-Lucas hybrid polynomials is also given.

Now we start by recalling some basic results concerning to the $r$-Fibonacci polynomials and $r$-Lucas polynomials of type $s$. For the detailed information related to these polynomials, we refer to $[1,11]$.

Let $r \geq 1$ be any integer, and let $s=1,2, \ldots, r$. The $r$-Fibonacci polynomials $\left(U_{n}^{(r)}\right):=\left(U_{n}^{(r)}(x, y)\right)$ are defined by

$$
\begin{equation*}
U_{n+1}^{(r)}=x U_{n}^{(r)}+y U_{n-r}^{(r)}, n \geq r \tag{1.3}
\end{equation*}
$$

with initial conditions $U_{0}^{(r)}=0, U_{k}^{(r)}=x^{k-1}$ for $k=1,2, \ldots, r$. Its companion sequence, the $r$-Lucas polynomials of type $s,\left(V_{n}^{(r, s)}\right):=\left(V_{n}^{(r, s)}(x, y)\right)$ are defined by

$$
\begin{equation*}
V_{n+1}^{(r, s)}=x V_{n}^{(r, s)}+y V_{n-r}^{(r, s)}, n \geq r \tag{1.4}
\end{equation*}
$$

with initial conditions $V_{0}^{(r, s)}=s+1, V_{k}^{(r, s)}=x^{k}$ for $k=1,2, \ldots, r$. It is clear that if we take $r=1, s=1$, then these polynomials respectively reduce to the classical bivariate Fibonacci and Lucas polynomials, see [3]. If we take $x=y=1$, they reduce to the $r$-Fibonacci and $r$-Lucas numbers.

The Binet formulas for $r$-Fibonacci polynomials and $r$-Lucas polynomials of type $s$ are

$$
\begin{equation*}
U_{n}^{(r)}=\sum_{k=1}^{r+1} \frac{\alpha_{k}^{n}}{(r+1) \alpha_{k}-r x} \tag{1.5}
\end{equation*}
$$

and

$$
\begin{equation*}
V_{n}^{(r, s)}=\sum_{k=1}^{r+1} \alpha_{k}^{n} \frac{(s+1) \alpha_{k}-s x}{(r+1) \alpha_{k}-r x} \tag{1.6}
\end{equation*}
$$

respectively. Here $\alpha_{k}$ are the distinct roots of the polynomial $P(t)=t^{r+1}-x t^{r}-y$. For details see [1].

## 2. Main results

In this section, we give the definition of $r$-Fibonacci hybrid polynomials and $r$-Lucas hybrid polynomials of type $s$. We give the generating functions, the Binet formulas, the summation formulas of these polynomials.

Also, we give a relation between $r$-Fibonacci hybrid polynomials and the $r$-Lucas hybrid polynomials of type $s$.

Definition 2.1 For $n \geq 0$, the $n$th $r$-Fibonacci hybrid polynomial and $r$-Lucas hybrid polynomial of type $s$ are defined respectively by the recurrence relations

$$
\begin{equation*}
\mathbb{K}_{U^{(r)}, n}=U_{n}^{(r)}+U_{n+1}^{(r)} i+U_{n+2}^{(r)} \epsilon+U_{n+3}^{(r)} h \tag{2.1}
\end{equation*}
$$

and

$$
\begin{equation*}
\mathbb{K}_{V^{(r, s)}, n}=V_{n}^{(r, s)}+V_{n+1}^{(r, s)} i+V_{n+2}^{(r, s)} \epsilon+V_{n+3}^{(r, s)} h, \tag{2.2}
\end{equation*}
$$

where $U_{n}^{(r)}$ is the $n$th $r$-Fibonacci polynomial and $V_{n}^{(r, s)}$ is the $n$th $r$-Lucas polynomial of type $s$.
In Table, we state some special cases of $r$-Fibonacci hybrid polynomials and $r$-Lucas hybrid polynomials of type $s$.

Table. Some special cases of $\mathbb{K}_{U^{(r), n}}$ and $\mathbb{K}_{V^{(r, s), n}}$.

| $x$ | $y$ | $r$ | $s$ | $\mathbb{K}_{U^{(r)}, n}$ | $\mathbb{K}_{V^{(r, s)}, n}$ |
| :--- | :--- | :--- | :--- | :--- | :--- |
| $x$ | $y$ | 1 | 1 | Bivariate Fibonacci hybrid polynomials | Bivariate Lucas hybrid polynomials [13] |
| $x$ | 1 | 1 | 1 | Fibonacci hybrid polynomials [15] | Lucas hybrid polynomials [15] |
| $2 x$ | 1 | 1 | 1 | Pell hybrid polynomials [8] | Pell-Lucas hybrid polynomials [8] |
| $m$ | 1 | $p$ | $p$ | Gen. hybrid Fibonacci $p$-numbers [6] | Gen. hybrid Lucas $p$-numbers [6] |
| 1 | 1 | $p$ | $p$ | Hybrid Fibonacci $p$-numbers [6] | Hybrid Lucas p-numbers [6] |
| 1 | 1 | 1 | 1 | Fibonacci hybrid numbers [16] | Lucas hybrid numbers [14] |
| 2 | 1 | 1 | 1 | Pell hybrid numbers [17] | Pell-Lucas hybrid numbers [17] |
| 1 | 2 | 1 | 1 | Jacobsthal hybrid numbers [18] | Jacobsthal-Lucas hybrid numbers [18] |

We state the following lemma, which is useful to obtain the generating functions of $r$-Fibonacci hybrid polynomials and $r$-Lucas hybrid polynomials of type $s$.

Lemma 2.2 For $n \geq r+1$, the $r$-Fibonacci hybrid polynomials and $r$-Lucas hybrid polynomials of type $s$ satisfy the following relations

$$
\begin{equation*}
\mathbb{K}_{U^{(r)}, n}=x \mathbb{K}_{U^{(r)}, n-1}+y \mathbb{K}_{U^{(r)}, n-r-1} \tag{2.3}
\end{equation*}
$$

and

$$
\begin{equation*}
\mathbb{K}_{V^{(r, s)}, n}=x \mathbb{K}_{V^{(r, s)}, n-1}+y \mathbb{K}_{V^{(r, s)}, n-r-1} \tag{2.4}
\end{equation*}
$$

Proof By using the definition of $r$-Fibonacci polynomials, we have

$$
\begin{aligned}
\mathbb{K}_{U^{(r)}, n} & =U_{n}^{(r)}+U_{n+1}^{(r)} i+U_{n+2}^{(r)} \epsilon+U_{n+3}^{(r)} h \\
& =x U_{n-1}^{(r)}+y U_{n-r-1}^{(r)}+\left(x U_{n}^{(r)}+y U_{n-r}^{(r)}\right) i+\left(x U_{n+1}^{(r)}+y U_{n-r+1}^{(r)}\right) \epsilon+\left(x U_{n+2}^{(r)}+y U_{n-r+2}^{(r)}\right) h \\
& =x\left(U_{n-1}^{(r)}+U_{n}^{(r)} i+U_{n+1}^{(r)} \epsilon+U_{n+2}^{(r)} h\right)+y\left(U_{n-r-1}^{(r)}+U_{n-r}^{(r)} i+U_{n-r+1}^{(r)} \epsilon+U_{n-r+2}^{(r)} h\right) \\
& =x \mathbb{K}_{U^{(r)}, n-1}+y \mathbb{K}_{U^{(r)}, n-r-1} .
\end{aligned}
$$

Thus, we get the desired result.
The relation for the $r$-Lucas hybrid polynomials of type $s$ can be proven similarly. So we omit it here.

Theorem 2.3 The generating functions for r-Fibonacci hybrid polynomials and r-Lucas hybrid polynomials of type $s$ are, respectively:

$$
\begin{equation*}
G(z)=\frac{\mathbb{K}_{U^{(r)}, 0}+\sum_{n=1}^{r}\left(\mathbb{K}_{U^{(r)}, n}-x \mathbb{K}_{U^{(r)}, n-1}\right) z^{n}}{1-x z-y z^{r+1}} \tag{2.5}
\end{equation*}
$$

and

$$
\begin{equation*}
H(z)=\frac{\mathbb{K}_{V^{(r, s)}, 0}+\sum_{n=1}^{r}\left(\mathbb{K}_{V^{(r, s)}, n}-x \mathbb{K}_{V^{(r, s)}, n-1}\right) z^{n}}{1-x z-y z^{r+1}} \tag{2.6}
\end{equation*}
$$

Proof Let

$$
G(z)=\sum_{n=0}^{\infty} \mathbb{K}_{U^{(r)}, n} z^{n}=\mathbb{K}_{U^{(r)}, 0}+\mathbb{K}_{U^{(r)}, 1} z+\mathbb{K}_{U^{(r)}, 2} z^{2}+\cdots+\mathbb{K}_{U^{(r)}, n} z^{n}+\cdots
$$

From Lemma 2.2, we get

$$
\begin{aligned}
& \left(1-x z-y z^{r+1}\right) G(z) \\
= & \sum_{n=0}^{\infty} \mathbb{K}_{U^{(r)}, n} z^{n}-x \sum_{n=0}^{\infty} \mathbb{K}_{U^{(r)}, n} z^{n+1}+y \sum_{n=0}^{\infty} \mathbb{K}_{U^{(r)}, n} z^{n+r+1} \\
= & \sum_{n=0}^{\infty} \mathbb{K}_{U^{(r)}, n} z^{n}-x \sum_{n=1}^{\infty} \mathbb{K}_{U^{(r)}, n-1} z^{n}-y \sum_{n=r+1}^{\infty} \mathbb{K}_{U^{(r)}, n-r-1} z^{n} \\
= & \sum_{n=0}^{r} \mathbb{K}_{U^{(r)}, n} z^{n}-x \sum_{n=1}^{r} \mathbb{K}_{U^{(r)}, n-1} z^{n}+\sum_{n=r+1}^{\infty}\left(\mathbb{K}_{U^{(r)}, n}-x \mathbb{K}_{U^{(r)}, n-1}-y \mathbb{K}_{U^{(r)}, n-r-1}\right) z^{n} \\
= & \sum_{n=0}^{r} \mathbb{K}_{U^{(r)}, n} z^{n}-x \sum_{n=1}^{r} \mathbb{K}_{U^{(r)}, n-1} z^{n} \\
= & \mathbb{K}_{U^{(r)}, 0}+\sum_{n=1}^{r}\left(\mathbb{K}_{U^{(r)}, n}-x \mathbb{K}_{U^{(r)}, n-1}\right) z^{n} .
\end{aligned}
$$

The generating function for $r$-Lucas hybrid polynomials of type $s$ can be proven similarly. So we omit it here.

Next, we state the Binet formulas for $r$-Fibonacci hybrid polynomials and $r$-Lucas hybrid polynomials of type $s$, and by using these formulas, we derive some properties of them.

Theorem 2.4 The Binet formulas for r-Fibonacci hybrid polynomials and r-Lucas hybrid polynomials of type $s$ are, respectively:

$$
\begin{equation*}
\mathbb{K}_{U^{(r)}, n}=\sum_{k=1}^{r+1} \frac{\alpha_{k}^{*} \alpha_{k}^{n}}{(r+1) \alpha_{k}-r x} \tag{2.7}
\end{equation*}
$$

and

$$
\begin{equation*}
\mathbb{K}_{V^{(r, s)}, n}=\sum_{k=1}^{r+1} \alpha_{k}^{*} \alpha_{k}^{n} \frac{(s+1) \alpha_{k}-s x}{(r+1) \alpha_{k}-r x} \tag{2.8}
\end{equation*}
$$

where $\alpha_{k}^{*}=1+\alpha_{k} i+\alpha_{k}^{2} \epsilon+\alpha_{k}^{3} h$.
Proof By using the definitions of the sequences $\mathbb{K}_{U^{(r)}, n}, \mathbb{K}_{V^{(r, s)}, n}$ and the Binet formulas of $U_{n}^{(r)}$ and $V_{n}^{(r, s)}$, we have

$$
\begin{aligned}
\mathbb{K}_{U^{(r)}, n}= & U_{n}^{(r)}+U_{n+1}^{(r)} i+U_{n+2}^{(r)} \epsilon+U_{n+3}^{(r)} h \\
= & \sum_{k=1}^{r+1} \frac{\alpha_{k}^{n}}{(r+1) \alpha_{k}-r x}+\sum_{k=1}^{r+1} \frac{\alpha_{k}^{n+1}}{(r+1) \alpha_{k}-r x} i \\
& +\sum_{k=1}^{r+1} \frac{\alpha_{k}^{n+2}}{(r+1) \alpha_{k}-r x} \epsilon+\sum_{k=1}^{r+1} \frac{\alpha_{k}^{n+3}}{(r+1) \alpha_{k}-r x} h \\
= & \sum_{k=1}^{r+1} \frac{\alpha_{k}^{n}+\alpha_{k}^{n+1} i+\alpha_{k}^{n+2} \epsilon+\alpha_{k}^{n+3} h}{(r+1) \alpha_{k}-r x} \\
= & \sum_{k=1}^{r+1} \frac{\alpha_{k}^{n}\left(1+\alpha_{k} i+\alpha_{k}^{2} \epsilon+\alpha_{k}^{3} h\right)}{(r+1) \alpha_{k}-r x} \\
= & \sum_{k=1}^{r+1} \frac{\alpha_{k}^{n}}{(r+1) \alpha_{k}-r x}\left(1+\alpha_{k} i+\alpha_{k}^{2} \epsilon+\alpha_{k}^{3} h\right) \\
= & \sum_{k=1}^{r+1} \frac{\alpha_{k}^{*} \alpha_{k}^{n}}{(r+1) \alpha_{k}-r x} .
\end{aligned}
$$

For the $r$-Lucas hybrid polynomials of type $s$, we have

$$
\begin{aligned}
\mathbb{K}_{V^{(r, s)}, n}= & V_{n}^{(r, s)}+V_{n+1}^{(r, s)} i+V_{n+2}^{(r, s)} \epsilon+V_{n+3}^{(r, s)} h \\
= & \sum_{k=1}^{r+1} \alpha_{k}^{n} \frac{(s+1) \alpha_{k}-s x}{(r+1) \alpha_{k}-r x}+\sum_{k=1}^{r+1} \alpha_{k}^{n+1} \frac{(s+1) \alpha_{k}-s x}{(r+1) \alpha_{k}-r x} i \\
& +\sum_{k=1}^{r+1} \alpha_{k}^{n+2} \frac{(s+1) \alpha_{k}-s x}{(r+1) \alpha_{k}-r x} \epsilon+\sum_{k=1}^{r+1} \alpha_{k}^{n+3} \frac{(s+1) \alpha_{k}-s x}{(r+1) \alpha_{k}-r x} h \\
= & \sum_{k=1}^{r+1} \frac{\left(\alpha_{k}^{n}+\alpha_{k}^{n+1} i+\alpha_{k}^{n+2} \epsilon+\alpha_{k}^{n+3} h\right)\left((s+1) \alpha_{k}-s x\right)}{(r+1) \alpha_{k}-r x} \\
= & \sum_{k=1}^{r+1} \frac{\alpha_{k}^{n}\left(1+\alpha_{k} i+\alpha_{k}^{2} \epsilon+\alpha_{k}^{3} h\right)\left((s+1) \alpha_{k}-s x\right)}{(r+1) \alpha_{k}-r x}
\end{aligned}
$$

$$
\begin{aligned}
& =\sum_{k=1}^{r+1} \alpha_{k}^{n} \frac{(s+1) \alpha_{k}-s x}{(r+1) \alpha_{k}-r x}\left(1+\alpha_{k} i+\alpha_{k}^{2} \epsilon+\alpha_{k}^{3} h\right) \\
& =\sum_{k=1}^{r+1} \alpha_{k}^{*} \alpha_{k}^{n} \frac{(s+1) \alpha_{k}-s x}{(r+1) \alpha_{k}-r x} .
\end{aligned}
$$

which gives the desired results.
The link between the $r$-Fibonacci hybrid polynomials and $r$-Lucas hybrid polynomials of type $s$ can be given in the following result.

Theorem 2.5 The r-Lucas hybrid polynomials of type $s$ can be expressed in term of r-Fibonacci hybrid polynomials as

$$
\begin{equation*}
\mathbb{K}_{V^{(r, s)}, n}=\mathbb{K}_{U^{(r)}, n+1}+s y \mathbb{K}_{U^{(r)}, n-r} \quad \text { for } \quad n \geq r+1 \tag{2.9}
\end{equation*}
$$

Proof Using the Binet formulas of $r$-Fibonacci hybrid polynomials and $r$-Lucas hybrid polynomials of type $s$, we have

$$
\begin{aligned}
\mathbb{K}_{U^{(r)}, n+1}+s y \mathbb{K}_{U^{(r)}, n-r} & =\sum_{k=1}^{r+1} \frac{\alpha_{k}^{*} \alpha_{k}^{n+1}}{(r+1) \alpha_{k}-r x}+s y \sum_{k=1}^{r+1} \frac{\alpha_{k}^{*} \alpha_{k}^{n-r}}{(r+1) \alpha_{k}-r x} \\
& =\sum_{k=1}^{r+1} \frac{\alpha_{k}^{*} \alpha_{k}^{n+1}+s y \alpha_{k}^{*} \alpha_{k}^{n-r}}{(r+1) \alpha_{k}-r x} \\
& =\sum_{k=1}^{r+1} \frac{\alpha_{k}^{*} \alpha_{k}^{n}\left(\alpha_{k}+s y \alpha_{k}^{-r}\right)}{(r+1) \alpha_{k}-r a} \\
& =\sum_{k=1}^{r+1} \alpha_{k}^{*} \alpha_{k}^{n} \frac{(s+1) \alpha_{k}-s x}{(r+1) \alpha_{k}-r x} \\
& =\mathbb{K}_{V^{(r, s)}, n} .
\end{aligned}
$$

Note that since $\alpha_{k}=x+y \alpha_{k}^{-r}$, then $\alpha_{k}+s y \alpha_{k}^{-r}=(s+1) \alpha_{k}-s x$.
Next, we give some summation formulas for $\mathbb{K}_{U^{(r)}, n}$ and $\mathbb{K}_{V^{(r, s)}, n}$ in the following theorem.

Theorem 2.6 For $m \geq 0$, we have

$$
\begin{equation*}
\sum_{n=0}^{m} \mathbb{K}_{U^{(r)}, n}=\sum_{k=1}^{r+1} \frac{\alpha_{k}^{*}\left(\alpha_{k}^{m+1}-1\right)}{(r+1) \alpha_{k}^{2}-(r(x+1)+1) \alpha_{k}+r x} \tag{2.10}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{m} \mathbb{K}_{V^{(r, s)}, n}=\sum_{k=1}^{r+1} \alpha_{k}^{*} \frac{\left((s+1) \alpha_{k}-s x\right)\left(\alpha_{k}^{m+1}-1\right)}{(r+1) \alpha_{k}^{2}-(r(x+1)+1) \alpha_{k}+r x} \tag{2.11}
\end{equation*}
$$

Proof Using the Binet formula of $\mathbb{K}_{U^{(r)}, n}$, we get

$$
\begin{aligned}
\sum_{n=0}^{m} \mathbb{K}_{U^{(r)}, n} & =\sum_{n=0}^{m} \sum_{k=1}^{r+1} \frac{\alpha_{k}^{*} \alpha_{k}^{n}}{(r+1) \alpha_{k}-r x} \\
& =\sum_{k=1}^{r+1} \frac{\alpha_{k}^{*}}{(r+1) \alpha_{k}-r x} \frac{\alpha_{k}^{m+1}-1}{\alpha_{k}-1} \\
& =\sum_{k=1}^{r+1} \frac{\alpha_{k}^{*}\left(\alpha_{k}^{m+1}-1\right)}{(r+1) \alpha_{k}^{2}-(r(x+1)+1) \alpha_{k}+r x}
\end{aligned}
$$

And from the Binet formula of $\mathbb{K}_{V^{(r, s)}, n}$, we get

$$
\begin{aligned}
\sum_{n=0}^{m} \mathbb{K}_{V^{(r, s)}, n} & =\sum_{n=0}^{m} \sum_{k=1}^{r+1} \alpha_{k}^{*} \alpha_{k}^{n} \frac{(s+1) \alpha_{k}-s x}{(r+1) \alpha_{k}-r x} \\
& =\sum_{k=1}^{r+1} \alpha_{k}^{*} \frac{(s+1) \alpha_{k}-s x}{(r+1) \alpha_{k}-r x} \sum_{n=0}^{m} \alpha_{k}^{n} \\
& =\sum_{k=1}^{r+1} \alpha_{k}^{*} \frac{\left((s+1) \alpha_{k}-s x\right)\left(\alpha_{k}^{m+1}-1\right)}{(r+1) \alpha_{k}^{2}-(r(x+1)+1) \alpha_{k}+r x}
\end{aligned}
$$

## 3. Matrix representation

In this section, we give a matrix representation of $r$-Fibonacci hybrid polynomials.
Let $Q_{r}:=\left[\begin{array}{ccccc}x & 0 & \cdots & 0 & y \\ 1 & 0 & \cdots & 0 & 0 \\ 0 & 1 & \ddots & \vdots & \vdots \\ \vdots & \ddots & \ddots & 0 & 0 \\ 0 & \cdots & 0 & 1 & 0\end{array}\right]$ be a matrix of size $(r+1) \times(r+1)$. For $n \geq r$, it can be verified
that

$$
Q_{r}^{n}=\left[\begin{array}{ccccc}
U_{n+1}^{(r)} & y U_{n-r+1}^{(r)} & \cdots & y U_{n-1}^{(r)} & y U_{n}^{(r)} \\
U_{n}^{(r)} & y U_{n-r}^{(r)} & & y U_{n-2}^{(r)} & y U_{n-1}^{(r)} \\
\vdots & \vdots & \ddots & \vdots & \vdots \\
U_{n-r+1}^{(r)} & y U_{n-2 r+1}^{(r)} & \cdots & y U_{n-r-1}^{(r)} & y U_{n-r}^{(r)}
\end{array}\right]
$$

with $U_{j}^{(r)}=0$, for $j=-1,-2, \ldots$.
Now let us define the matrix

$$
K(n):=\left[\begin{array}{ccccc}
\mathbb{K}_{U^{(r)}, n+1} & y \mathbb{K}_{U^{(r)}, n-r+1} & \cdots & y \mathbb{K}_{U^{(r)}, n-1} & y \mathbb{K}_{U^{(r)}, n}  \tag{3.1}\\
\mathbb{K}_{U^{(r)}, n} & y \mathbb{K}_{U^{(r)}, n-r} & & y \mathbb{K}_{U^{(r)}, n-2} & y \mathbb{K}_{U^{(r)}, n-1} \\
\vdots & \vdots & \ddots & \vdots & \vdots \\
\mathbb{K}_{U^{(r)}, n-r+1} & y \mathbb{K}_{U^{(r)}, n-2 r+1} & \cdots & y \mathbb{K}_{U^{(r)}, n-r-1} & y \mathbb{K}_{U^{(r)}, n-r}
\end{array}\right]
$$

For any nonnegative integer $n \geq r$, we have

$$
\begin{equation*}
K(n)=K(0) Q_{r}^{n} \tag{3.2}
\end{equation*}
$$

By taking the determinant of both sides of the matrix equality (3.2), we get the generalized Cassini's identity for $r$-Fibonacci hybrid polynomials as

$$
\begin{equation*}
\operatorname{det} K(n)=(-1)^{n r} y^{n} \operatorname{det} K(0) \tag{3.3}
\end{equation*}
$$

Remark 3.1 If $r=1$ in (3.3), we get

$$
\begin{equation*}
\mathbb{K}_{U^{(1)}, n+1} \mathbb{K}_{U^{(1)}, n-1}-\mathbb{K}_{U^{(1)}, n}^{2}=(-1)^{n}\left(\mathbb{K}_{U^{(1)}, 1} \mathbb{K}_{U^{(1)},-1}-\mathbb{K}_{U^{(1)}, 0}^{2}\right) \tag{3.4}
\end{equation*}
$$

By using the matrix identity (3.2), we get the following theorem which can be seen as a generalization of Honsberger formula.

Theorem 3.2 For $n, s, t \geq r$, we have

$$
\begin{align*}
& \mathbb{K}_{U^{(r)}, s+t}=\mathbb{K}_{U^{(r)}, s} \mathbb{K}_{U^{(r)}, t+1}+y \sum_{j=0}^{r-1} \mathbb{K}_{U^{(r)}, s-r+j} \mathbb{K}_{U^{(r)}, t-j}  \tag{3.5}\\
& \mathbb{K}_{U^{(r)}, s+t}=U_{s}^{(r)} \mathbb{K}_{U^{(r)}, t+1}+y \sum_{j=1}^{r-1} U_{s-r+j}^{(r)} \mathbb{K}_{U^{(r)}, t-j} \tag{3.6}
\end{align*}
$$

Proof Let $K:=K(0)$, considering the matrix equalities $\left(K Q_{r}^{s+t}\right) K=\left(K Q_{r}^{s}\right)\left(Q_{r}^{t} K\right)$ and $\left(K Q_{r}^{s+t}\right)=$ $\left(K Q_{r}^{s}\right) Q_{r}^{t}$, then equating the corresponding entries, we get the desired results respectively.

Remark 3.3 If $r=1$, the identities (3.5) and (3.6) reduce to the classical bivariate Fibonacci hybrid polynomials as

$$
\begin{align*}
& \mathbb{K}_{U^{(1)}, s+t}=\mathbb{K}_{U^{(1)}, s} \mathbb{K}_{U^{(1)}, t+1}+y \mathbb{K}_{U^{(1)}, s-1} \mathbb{K}_{U^{(1)}, t}  \tag{3.7}\\
& \mathbb{K}_{U^{(1)}, s+t}=U_{s}^{(1)} \mathbb{K}_{U^{(1)}, t+1}+y U_{s-1}^{(1)} \mathbb{K}_{U^{(1)}, t} \tag{3.8}
\end{align*}
$$

## 4. Conclusion

In our present investigation, we have introduced $r$-Fibonacci hybrid polynomials and $r$-Lucas hybrid polynomials of type $s$ as a generalization of the $r$-Fibonacci and $r$-Lucas hybrid polynomials. We have derived several interesting properties such as the Binet formulas, the generating functions, summation formulas, a matrix representation of these polynomials. As an application of matrix method, we have derived a generalization of Cassini's and Honsberger formulas.

## Acknowledgment

We are grateful to the anonymous referee(s) for giving us helpful comments to improve the quality of this paper.

## AIT-AMRANE et al./Turk J Math

## References

[1] Abbad S, Belbachir H, Benzaghou B. Companion sequences associated to the $r$-Fibonacci sequence: algebraic and combinatorial properties. Turkish Journal of Mathematics 2019; 43 (3): 1095-1114.
[2] Alkan M. The generalized Fibonacci sequences on an integral domain. Montes Taurus Journal of Pure and Applied Mathematics 2021; 3 (2): 60-69.
[3] Belbachir H, Bencherif F. On some properties of bivariate Fibonacci and Lucas polynomials. Journal of Integer Sequences 2008; 11: 08.2.6
[4] Dattoli G, Lorenzutta S, Ricci PE, Cesarano C. On a family of hybrid polynomials. Integral Transforms and Special Functions 2004; 15 (6): 485-490.
[5] Kızılates C. A note on Horodam hybrinomials. Fundamental Journal of Mathematics and Applications 2022; 5 (1): 1-9.
[6] Kocer EG, Alsan H. Generalized hybrid Fibonacci and Lucas p-numbers. Indian Journal of Pure and Applied Mathematics 2021; https://doi.org/10.1007/s13226-021-00201-w.
[7] Koshy T. Fibonacci and Lucas numbers with applications. New York: Wiley, 2001.
[8] Liana M, Szynal-Liana A, Wloch I. On Pell hybrinomials. Miskolc Mathematical Notes 2019; 20 (2): 1051-1062.
[9] Morales GC. Investigation of generalized Fibonacci hybrid numbers and their properties. Applied Mathematics E-Notes 2021; 21: 110-118.
[10] Ozdemir M. Introduction to hybrid numbers. Advances in Applied Clifford Algebras 2018; 28 (1): 11.
[11] Raab JA. A generalization of the connection between the Fibonacci sequence and Pascal's triangle. Fibonacci Quarterly 1963; 1: 21-31.
[12] Senturk TD, Bilgici G, Dasdemir A, Unal Z. A study on Horadam hybrid numbers. Turkish Journal of Mathematics 2020; 44 (4): 1212-1221.
[13] Sevgi E. The generalized Lucas hybrinomials with two variables. Communications Faculty of Sciences University of Ankara Series A1: Mathematics and Statistics 2021; 70 (2): 622-630.
[14] Szynal-Liana A. The Horadam hybrid numbers. Discussiones Mathematicae-General Algebra and Applications 2018; 38 (1): 91-98.
[15] Szynal-Liana A, Wloch I. Introduction to Fibonacci and Lucas hybrinomials. Complex Variables and Elliptic Equations 2020; 65 (10): 1736-1747.
[16] Szynal-Liana A, Wloch I. The Fibonacci hybrid numbers. Utilitas Mathematica 2019; 110: 3-10.
[17] Szynal-Liana A, Wloch I. On Pell and Pell-Lucas hybrid numbers. Commentationes Mathematica 2018; 58: 11-17.
[18] Szynal-Liana A, Wloch I. On Jacobsthal and Jacobsthal-Lucas hybrid numbers. Annales Mathematicae Silesianae 2019; 33 (1): 276-283.
[19] Tan E, Ait-Amrane NR. On a new generalization of Fibonacci hybrid numbers. Indian Journal of Pure and Applied Mathematics 2022; https://doi.org/10.1007/s13226-022-00264-3


[^0]:    *Correspondence:etan@ankara.edu.tr
    2010 AMS Mathematics Subject Classification: 11B39, 05A15, 11R52

